54025056835. 3
54025056836. 4

Question Number : 100 Question Id : 54025014210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp?2

Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. Itis evident that this X-linked recessive trait shows transmission from carrier

female of male progeny.
Which of the following is not a Mendelian disorder ?
(1) Cystic Fibrosis
(2) Turner’s Syndrome
(3) Sickle cell anaemia
(4) Thalassaemia
Options :
54025056837. 1
54025056838 2

54025056839. 3
54025056840. 4

Question Number : 100 Question Id : 54025014210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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Options :

54025056837. 1

54025056838. 2

54025056839. 3

54025056840. 4
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Question Number : 101 Question Id : 54025014261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Human adapted to the dictates of nature, because the level of technology was very low and the
stage of human social development was also primitive. This type of interaction between human
and nature was termed as

(1) Environmental determinism
(2) Neo-determinism

(3) Humanisation of Nature

(4) Possibilism

Options :

54025057041. 1
54025057042. 2
54025057043. 3
54025057044. 4

Question Number : 101 Question Id : 54025014261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025057041. 1
54025057042. 2
54025057043. 3
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Question Number : 102 Question Id : 54025014262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

“Arteries of circulation” have been often described as metaphor for the :
(1) Network of Roads
(2) Network of Cities
(3) Network of Rivers

(4) Network of Computers

Options :

54025057045. 1
54025057046. 2
54025057047. 3
54025057048. 4

Question Number : 102 Question Id : 54025014262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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Options :

54025057045. 1
54025057046. 2
54025057047. 3
54025057048. 4

Question Number : 103 Question Id : 54025014263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Natural growth of population denotes :
(1) Births — Deaths + Inmigration — Outmigration
(2) Births —Deaths + Outmigration — Inmigration
(3) Births — Deaths

(4) Births + Migration

Options :

54025057049. 1
54025057050. 2
54025057051. 3
54025057052. 4

Question Number : 103 Question Id : 54025014263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Inia:

India’s largest Student Review Platform



SAEEI F Ui gfg guida § |
(1) 9 — G + YT — TR (STEH)
(2) W9 — T + IRIVEH — FYATg

(3) SH - 14F
(4) S +YEE

Options :

54025057049. 1
54025057050. 2
54025057051. 3
54025057052. 4

Question Number : 104 Question Id : 54025014264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

In the idea of human development, equity refers to the following :

1) Making equal access to opportunities available to everybody
(2) Continuity in the availability of opportunities
3)

(
(

(4) People have the power to make choices

Options :

54025057053. 1
54025057054. 2
54025057055. 3
54025057056. 4

Efforts to increase the people knowledge

Question Number : 104 Question Id : 54025014264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

54025057053. 1
54025057054. 2
54025057055. 3
54025057056. 4

Question Number : 105 Question Id : 54025014265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ
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Who has stated that “Asia has many places where people are few and few places where people
are very many”.

(1)  Griffith Taylor

(2) Karl Ritter

(3) George B. Cressey

(4) Amartya Sen

Options :

54025057057. 1
54025057058. 2
54025057059. 3
54025057060. 4

Question Number : 105 Question Id : 54025014265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(
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(4) 3 WA
Options :

54025057057. 1
54025057058. 2
54025057059. 3
54025057060. 4

Question Number : 106 Question Id : 54025014266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following country in the world has the highest sex ratio ?
(1) Slovakia
(2) Slovenia
(3) Serbia
(4) Latvia
Options :
54025057061. 1
54025057062 2

54025057063. 3
54025057064. 4

Question Number : 106 Question Id : 54025014266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057061. 1
54025057062. 2
54025057063. 3
54025057064. 4

Question Number : 107 Question Id : 54025014267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

A circular pattern of settlement develops at which one of the following locations ?
(1) Around a lake

(2) Cross roads

3)

(4) Tri-junction

Railway line

Options :

54025057065. 1
54025057066. 2
54025057067. 3
54025057068. 4

Question Number : 107 Question Id : 54025014267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057065. 1
54025057066. 2
54025057067. 3
54025057068. 4

Question Number : 108 Question Id : 54025014268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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Which highway links Vancouver in British Columbia to St. John's city in Newfoundland ?
(1) The Trans-Canadian Highway

(2) Alaskan Highway

(3) The Pan-American Highway

(4) The Trans-Continental Stuart Highway

Options :

54025057069. 1
54025057070. 2
54025057071. 3
54025057072. 4

Question Number : 108 Question Id : 54025014268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

54025057069. 1
54025057070. 2
54025057071. 3
54025057072. 4

Question Number : 109 Question Id : 54025014269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following pipelines is used to carry petroleum from Gulf of Mexico to the North-
Eastern states of U.S.A.

(1) Mexico pipeline

(2) Big inch pipeline

(3) North-Eastern states pipeline
(4) Chicago-Mexico pipeline

Options :

54025057073. 1
54025057074. 2
54025057075. 3
54025057076. 4

Question Number : 109 Question Id : 54025014269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057073. 1
54025057074. 2
54025057075. 3
54025057076. 4

Question Number : 110 Question Id : 54025014270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

The highest motorable road density is found in which of the following regions of the world ?
(1) Africa

(2) Asia

(3) North America

(4) Australia

Options :

54025057077. 1
54025057078. 2
54025057079. 3
54025057080. 4

Question Number : 110 Question Id : 54025014270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057077. 1
54025057078. 2
54025057079. 3
54025057080. 4

Question Number : 111 Question Id : 54025014271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Which of the following is NOT a member nation of the Association of South East Asian Nations

(ASEAN) ?
(1) India
(2) Cambodia
(3) Vietnam
(4) Laos

Options :

54025057081. 1
54025057082. 2
54025057083. 3
54025057084. 4

Question Number : 111 Question Id : 54025014271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1) o
(2) wEEITEAT
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Options :

54025057081. 1
54025057082. 2
54025057083. 3
54025057084. 4

Question Number : 112 Question Id : 54025014272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following was the first Million City of the World ?
(1) New York

(2) [Paris

(3) London

(4) Tokyo
Options :

54025057085. 1
54025057086. 2
54025057087. 3
54025057088. 4

Question Number : 112 Question Id : 54025014272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057085. 1
54025057086. 2
54025057087. 3
54025057088. 4

Question Number : 113 Question Id : 54025014273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

Arrange the following steps of primitive subsistence agriculture in sequential order.

(A) Vegetation is usually cleared

(B)  Ashes of brunt vegetation added to soil for enhancing fertility
(C) Cleared vegetation is burnt by fire

(D) Farmers shift to another part and clear other patch

Choose the correct answer from the options given below :

(1) (A) (©), D), B)

(2)  (A) (©), (B), (D)
(3) (A) (B), (D), (O)
(4) (A) (B), (©), (D)
Options :

54025057089. 1
54025057090. 2
54025057091. 3
54025057092. 4

Question Number : 113 Question Id : 54025014273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ
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(1) (A) (©), (D), (B)

(2)  (A), (©), ( ) (D)

(3)  (A), (B), (D), (O

(4) (A) (B), (C), (D)

Options :

54025057089. 1
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54025057090. 2
54025057091. 3
54025057092. 4

Question Number : 114 Question Id : 54025014274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Arrange the following approaches of human geography in order of their emergence.

(A) Post-modernism

(B) Areal Differentiation
(C) Spatial Organisation
(D) Regional Analysis

Choose the correct answer from the options given below :

(1) (D) (B), (©), (A)
(2)

( )/ ( )
(3) (D) (O (A), (B)
(4) (D), (©) (B), (A)
Options :
54025057093. 1

54025057094. 2
54025057095. 3
54025057096. 4

Question Number : 114 Question Id : 54025014274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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(1) (D), (B), (O), (A)
(2) (O, (D), (A), (B)
(3) (D) (©), (A), (B)
(4) (D) (), (B), (A)
Options :

54025057093. 1
54025057094. 2
54025057095. 3
54025057096. 4
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Question Number : 115 Question Id : 54025014275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension

MCQ
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Identify the correct points about tourist attractions.
(A) Climate and Landscape

(B) History and Art
(C) Political insecurity

(D) Culture and Economy
Choose the correct answer from the options given below :

(1) (B, (C) and (D) only

(2) (A), (C) and (D) only
(3)  (A), (B) and (D) only
(4) (A), (B) and (C) only
Options :

54025057097. 1
54025057098. 2
54025057099. 3
54025057100. 4

Question Number : 115 Question Id : 54025014275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension

MCQ
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(1) %ad (B), (C) 3R (D)

(2) A (A), (C) 3R (D)

(3) A (A), (B) &R (D)

(4) FHad (A), (B) 3R (Q)

Options :

54025057097. 1
54025057098. 2
54025057099. 3
54025057100. 4

Question Number : 116 Question Id : 54025014276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which of the following statements about the factors influencing distribution of population are
correct ?

(A) Availability of minerals and mining activities lead to population attraction

(B) Urbanisation and job opportunities lead to higher population density

(C) Industrialisation leads to job opportunities as well as subsidiary activities

(D) Mountainous regions are heavily populated due to tourists visit and subsidiary activities
Choose the correct answer from the options given below :

u)wu d (C) only

(2) (A), (B) and (D) only

@)mummm

(4)  (B), (C) and (D) only

Options :

54025057101. 1
54025057102. 2
54025057103. 3
54025057104. 4

Question Number : 116 Question Id : 54025014276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1) %34 (A), (B) 3T (C)

(2) FFA (A), (B) 3R (D)
(3) Had (A), (C) 3R (D)
(4) F (B), (C) 3R (D)
Options :

54025057101. 1
54025057102. 2
54025057103. 3
54025057104. 4

Question Number : 117 Question Id : 54025014277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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Identify the problems of rural settlements in developing countries carefully :
(A) Most house designs are typically deficient in proper ventilation

(B) Water borne diseases tend to be a common problem

(C) Adequate supply of potable water to rural settlements

(D) Shortage of toilet and garbage disposal facilities

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

(2)  (A), (B) and (C) only
(3) (A), (D) and (C) only
(4) (B), (C) and (D) only
Options :

54025057105. 1
54025057106. 2
54025057107. 3
54025057108. 4

Question Number : 117 Question Id : 54025014277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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(2) F=e (A), (B) 3T (C)

(3) T (A), (D) R (O)

(4) Fd (B), (C) 3R (D)

Options :

54025057105. 1
54025057106. 2
54025057107. 3
54025057108. 4

Question Number : 118 Question Id : 54025014278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

.
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Match List - I with List - IL.

(A)
(B)
(©)
(D)

List - I

Regional Trade Block

Association of South East Asian Nations
Common Wealth of Independent States
European Union

Organisation of petroleum exporting Countries

— — ——

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(A)-(D, (B)-(II), (O)-(1I), (D)-(IV)
(A)-(ID), (B)-(IV), (©)-(1), (D)~(II
(A)-(11D), (B)-(1), (O)-(IV), (D)-(II
(A)~( A

)
i )
A)-(IV), (B)-(I1I), (C)-(11), (D)-(0)

54025057109. 1
54025057110. 2
54025057111. 3
54025057112. 4

List - II

Head Quater Country

I) Belarus
II) Austria
IlI) Indonesia
IV) Belgium

Question Number : 118 Question Id : 54025014278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension MCQ

T - 1 1 =it - 11 H i)

(A) THIFIUIFA % A8y 3 WA o (snfaar)
(B) hIHA d¢Y 3 fetre= ©H

() A Ife

(D) SIAESIYM 1% YZifoera™ TR Haisl

T faehedi § | W&t I 1 =44 FIfSg

(1) (A)-1), (B)-(II), (O-(I), (D)-(IV)

(2)  (A)-(1I), (B)-(IV), (C)-(1), (D)-(IIT)

(3)  (A)-(ID, (B)-(I), (O-(IV), (D)-(II)

(4)  (A)-(IV), (B)-(IID), (O)-(II), (D)-()

Options :

et - 1
QTef¥Teh SMUR T9E

54025057109. 1
54025057110. 2
54025057111. 3
54025057112. 4

o
AT 4

) SRy

M) e

1) SvSHmE

V) afcsaH

Question Number : 119 Question Id : 54025014279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension MCQ

@collegeduniaé



Match List - I with List - IL

List - I

Branch of Human Geography
A) Population Geography

C) Political Geography

(

(B) Social Geography

(

(D) Economic Geography

(
(
(
(

List - IT
Discipline
I)  Sociology
II) Military Science
IIT) Agricultural Science
IV) Demography

Choose the correct answer from the options given below :

(1) (A)~(HI) ( )-(ID), (O-(IV), (D)-[0)
(2) (A0, (B)}-(IV), (O-(II), (D)-(IT
3)  (A)- (IV) (B )() (©)-(10), (D)-(HI
(4) (A1), (B)-(I), (©O)-(D, (D)-(IV

Options :

54025057113. 1
54025057114. 2
54025057115. 3
54025057116. 4

)
)
)

Question Number : 119 Question Id : 54025014279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T - 1 1 =it - 11 H i)
¥ -1I

WS YT hi ITEm AITEA
(A) SEHEA P () HESEIS
(B) WIS it 1 = fagm
(C) USHIfdH sFiet (1) Y fagm
(D) Tfeer s (IV) SHifeReRt
e faehedl o 9 W& ST &1 999 Fifeg ;
(1)  (A)-(1D), (B)-(II), (©O)-(IV), (D)-(D)
(2) (A)-D), (B )( ). (©)-(110), (D)-(I0)
(3)  (A)-IV), )() (©)-(1D), (D)~(IIT)
(4) (A)-(10), (B)-(II), (O)-(I), (D)-(IV)
Options :

54025057113. 1
54025057114. 2
54025057115. 3
54025057116. 4

Question Number : 120 Question Id : 54025014280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

@collegeduniag



Match List - I with List - IL.

List - I

Country
(A) Switzerland (D)
(B) Niger (IT)
(C) Brazil (IIT)
(D) Nepal (IV)

List - I

Level of Human Development, 2017
Medium

High

Very High

Low

Choose the correct answer from the options given below :

(1) (A)-D), (B)-(ID), (O)-(0), (D)-(IV)
(2) (A, (B)-(1), (O, (D)-(IV)
(3)  (A)-(IV), (B)-(II), (O)-(1), (D)-(I)
(4) (A1), (B)-(IV), (O)-(I), (D)-(I)

Options :

54025057117. 1
54025057118. 2
54025057119. 3
54025057120. 4

Question Number : 120 Question Id : 54025014280 Question Type :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

T - 1 1 =it - 11 H i)

ol AT - 11

441 ue faerTa &1 @R, 2017

(A) feagsretre ) W
(B) &SR (I =
(C) s (IIl) =gd 34
(D) ura (v) fm=
e fomedl § 9 W& IR &1 994 il
(1)  (A)-(D), (B)-(I1I), (©)-(D), (D)-(IV)
(2) (A)-(D), (B)-(I), (O)- (HI) ( )-(IV)
(3)  (A)-(IV), (B)-(IID), (O)-dI), (D)-(I)
(4) (A)-(ID), (B)-(IV), (C)( ), (D)-()
Options :

54025057117. 1
54025057118. 2
54025057119. 3
54025057120. 4

Question Number : 121 Question Id : 54025014281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

@collegeduniaé



The units like Panna, Para and Palli are examples of settlements.

(1) Clustered
(2) Semi-Clustered
(3) Hamleted
(4) Dispersed
Options :
54025057121. 1
54025057122. 2

54025057123. 3
54025057124. 4

Question Number : 121 Question Id : 54025014281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T, 9TST AR TTel S SRRl Sl & e € |

(1) =g
(2) erdf-f=a

(3) Tl
(4) uitfers
Options :

54025057121. 1
54025057122.2
54025057123. 3
54025057124. 4

Question Number : 122 Question Id : 54025014282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

According to Indian Census, urban towns and cities are grouped into how many of the following
classes ?

(1) Three

(2) Four

(3) Five

(4) Six
Options :

54025057125. 1
54025057126. 2
54025057127. 3
54025057128. 4

Question Number : 122 Question Id : 54025014282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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R SO o TR, Y8l afiadl o) T @l foras &1t o wgfed foman )
(1) o=

(2) &R
(3) dH
4) B

Options :

54025057125. 1
54025057126. 2
54025057127. 3
54025057128. 4

Question Number : 123 Question Id : 54025014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Information on reasons for migration was first incorporated in the Census of :
(1) 1881

(2) 1981
(3) 1971
(4) 1991

Options :

54025057129. 1
54025057130. 2
54025057131. 3
54025057132. 4

Question Number : 123 Question Id : 54025014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fore SO H Ugell W) 9a & faw Run ki g1 6 wftafad fen
(1) 1881

(2) 1981

(3) 1971

(4) 1991

Options :

54025057129. 1
54025057130. 2
54025057131. 3
54025057132. 4

Question Number : 124 Question Id : 54025014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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Which one of the following states occupied first place in case of in-migrants ?

(1) Uttar Pradesh
(2) Bihar

(3) Maharashtra
(4) Rajasthan
Options :

54025057133. 1

54025057134. 2

54025057135. 3

54025057136. 4

Question Number : 124 Question Id : 54025014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Frafafaa v o fem o o989 s3rer sTyemdt o € 2

(1) W 9™
(2) feR

(3) HeRI%
(4) USTE
Options :

54025057133. 1
54025057134. 2
54025057135.3
54025057136. 4

Question Number : 125 Question Id : 54025014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Which of the following is applicable to Girmit Act ?

(1) Life time contract for migration

(2) Time bound contract for migration

(3) Life time contract for tourism

(4) Time bound contract for medical treatment

Options :

54025057137. 1
54025057138.2
54025057139. 3
54025057140. 4

Question Number : 125 Question Id : 54025014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

collegedunias
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941 H | %1 91 fRfie e W ar] g @ ?
(1) Tag & foru srsited SAa
(2) VEH % fau goeg STy
(3) UdeA & AU sTsiaq SaY
(4) @RI IYER & T qHes STaY

Options :

54025057137. 1
54025057138. 2
54025057139. 3
54025057140. 4

Question Number : 126 Question Id : 54025014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which one of the following has the lowest proportion of speakers in the linguistic families of India ?
(1) Dravidian
(2) Austric
(3) Indo-European
(4) Sino-Tibetan
Options :
54025057141, 1
54025057142, 2

54025057143.3
54025057144. 4

Question Number : 126 Question Id : 54025014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

YRd & Frfafed sl gfem § 9§ fan su[ § Sl 1 are [ 91 8 2
(1) =i
(2) AfEgh

=

(3) sEI-gUfgaA
(4) =HI-fossrdt

Options :

54025057141. 1
54025057142. 2
54025057143. 3
54025057144. 4

Question Number : 127 Question Id : 54025014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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Which one of the followings is NOT a characteristic of slums ?
(1) Poor ventilation

(2) Poor hygienic condition

(3) Wider roads

(4) Lack of basic amenities

Options :

54025057145. 1
54025057146. 2
54025057147. 3
54025057148. 4

Question Number : 127 Question Id : 54025014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

frfafad o &M 1 T (%) 1 ok 728 82
(1) Tt gl 1 A9E

(2) = = g

(3) I weh

(4) HAYd AT 1 A9E

Options :

54025057145. 1
54025057146.2
54025057147. 3
54025057148. 4

Question Number : 128 Question Id : 54025014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following is NOT the project undertaken by National Highway Authority of
India (NHAI) ?

(1) Atal Tunnel

(2) Golden Quadrilateral
(3) North-South Corridor
(4) East-West Corridor

Options :

54025057149. 1
54025057150. 2
54025057151. 3
54025057152. 4

Question Number : 128 Question Id : 54025014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunias
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i =gy
Far-gferu nife=m
(4) Ya-ufy=EH Tfdan

Options :

54025057149. 1
54025057150. 2
54025057151. 3
54025057152. 4

-
) A TAA
)
)

frefafad 5 9 s 9 9" T qemrl Wikt (NHAT) & §R1 ${did WS &1 91 78 @ 2

Question Number : 129 Question Id : 54025014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Radio broadcasting was started in India in 1923 by

(1) Indian Broadcasting System

(2) All India Radio
(3) Radio Club of Bombay

(4) Akashwani

Options :

54025057153. 1
54025057154.2
54025057155. 3
54025057156. 4

Question Number : 129 Question Id : 54025014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

1923 H 9Ra # Yfed yaru &t YEeTd foras gr1 i

(1) 3fesd srewmien fagweq
(2) it sfean dea

(3) fedl Fad % STl

(4)  SreREE

Options :

54025057153. 1
54025057154.2
54025057155. 3
54025057156. 4

Question Number : 130 Question Id : 54025014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunias
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Two very important ports that were taken away from India during partition are
(1) Karachi and Chittagong
(2) Karachi and Kandla
(3) Chittagong and Haldia
(4) Haldia and Karachi
Options :
54025057157. 1
54025057158. 2

54025057159. 3
54025057160. 4

Question Number : 130 Question Id : 54025014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

foare & SR, YRd & < o5 Heeyu dUEl A e e s EE
(1) T 3R =2
(2) U IR Heen
(3) =g iR Bfee
(4) efegan SR =

Options :

54025057157. 1
54025057158. 2
54025057159. 3
54025057160. 4

Question Number : 131 Question Id : 54025014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Identify the organisation responsible for the construction and maintenance of roads in the border
areas of India.

(1) Public Works Department
(2) National Highway Authority of India
(3) Respective Border State Governments
(4) Border Road Organisation

Options :

54025057161. 1
54025057162.2
54025057163. 3
54025057164. 4

Question Number : 131 Question Id : 54025014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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IRd & diHmEd Tghl & @EE AR 0 &1 e & fau §7eq i 1g9m 1|
(1) @ & faam

(2) WA T HEME wiRe

(3) HHEdl Tl | g SRl

(4) I HEH HISA

Options :

54025057161. 1
54025057162.2
54025057163. 3
54025057164. 4

Question Number : 132 Question Id : 54025014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which offshore terminal has been developed to reduce the pressure at Kandla port ?
(1) Nhava Sheva

(2) Dwarka

(3) Porbander

(4) Vadinar

Options :

54025057165. 1
54025057166. 2
54025057167. 3
54025057168. 4

Question Number : 132 Question Id : 54025014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[ 1 J9aerd 2fHae Hred 9eUTe & god il &H i fau fawfaa fezn = ar?
(1) ==mE-ven

(2) IR

(3) UREET

(4) @feaR
Options :

54025057165. 1
54025057166. 2
54025057167. 3
54025057168. 4

Question Number : 133 Question Id : 54025014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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To improve the water quality of the river Ganga, which programme has been launched ?
(1) Water Purification Programme

(2)
(3)
(4)

Options :

54025057169. 1
54025057170. 2
54025057171. 3
54025057172. 4

Namami Gange Programme
Swachh Bharat Mission
Swachh Jal Mission

Question Number : 133 Question Id : 54025014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T 7 % ST i T[UER GUR % AU SF § ST e i T 2
(1) o 3 HEEH

(2) =i T HEiwd

(3) =5 9rd fasm

(4) =5 5id faeE

Options :

54025057169. 1
54025057170. 2
54025057171. 3
54025057172. 4

Question Number : 134 Question Id : 54025014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following in chronological order of their set up/establishment.

(A) Oil and Natural Gas Commission
(B) Atomic Energy Institute at Trombay
(C) Atomic Energy Commission

(D) Bhabha Atomic Research Centre

Choose the correct answer from the options given below :
1) (©), B), (D), (A)

(2 (©), (B), (A), (D
(3)  (B) (O (A), (
(4 (A) (B), (D) (
Options :

54025057173. 1
54025057174. 2

54025057175.3
54025057176. 4

>

O 9

)
)
)

Question Number : 134 Question Id : 54025014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key Value
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|C0mprehensi0n IMCQ

Treferfiad Tmaa1/37e 787 o HTAshiHE A H sHeeed i |
(A) O UE Yrkfdes 19 SR

(B)  OREIY] Sl HEA ()

(C) TRHM Sl ST

(D) o1 TRETY] SHUH Fg

= e ﬁaa—vfr‘r’ T W I H T BT
() (©, (B), D), (A)

2) (©, ( ), (A), (D)

(3) (B) (©). (A), (D)

(4) (A), (B), (D), (O

Options :

54025057173. 1
54025057174. 2
54025057175.3
54025057176. 4

-

Question Number : 135 Question Id : 54025014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following religious groups of India in descending order of their Population percentages.

(A) Christians

(B) Muslims
(C) Hindus
(D) Sikhs

Choose the correct answer from the options given below :

(1) (O, (B), (D), (A)
(2) (O, (B). (A), (D)
(3) (B) (O), (A), (D)
(4) (B), (©). (D), (A)
Options :

54025057177. 1
54025057178. 2
54025057179. 3
54025057180. 4

Question Number : 135 Question Id : 54025014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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I <k #TfHe el ol 3Tk SHEEA Yidwd o STTHR Hed A | Saferd & |

(A) R
(B) Hfe™
(C) g
(D) fos@

(4)
Options :
54025057177. 1
54025057178.2
54025057179. 3
54025057180. 4

Question Number : 136 Question Id : 54025014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

Arrange the following Indian river mouths from north to south direction.

(A) Krishna
(B) Mahanadi
(C) Kaveri

(D) Godavari

Choose the correct answer from the options given below :

(1) (D) (B), (©), (A)

(2) (D), (B), (A) (©)
(3)  (B), (D), (O), (A)
(4)  (B), (D), (A) (O

Options :

54025057181. 1
54025057182.2
54025057183. 3
54025057184. 4

Question Number : 136 Question Id : 54025014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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e vt Afedi & 5@ 1 37 3 9 St feen | sxafiem &)

(A) Fom

(B) HRWRI

(C) Tl

(D) Tireradt

o feu fosredi & 9 W SR 1 997 FifoC
(1) (D) (B) (©), (A)

(2) (D), (B), (A), (O

(3)  (B), (D), (©), (A)

(4) (B), (D), (A), (O
Options :

54025057181. 1
54025057182. 2
54025057183. 3
54025057184. 4

Question Number : 137 Question Id : 54025014297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which of the following statements about Namami Gange programme are correct ?

(A) Developing ‘Ganga Grams in Himachal Pradesh

(B) Afforestation along the bank to increase biodiversity

(C) Developing sewerage treatment systems in town
(D) Monitoring of Industrial effluents

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (C) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B) and (D) only
Options :

54025057185. 1
54025057186. 2
54025057187. 3
54025057188. 4
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Which of the following statements about the Atal Tunnel are correct ?
(A) This tunnel connects Manali to Lahaul-Spiti Valley

(B)  This tunnel has been built by Border Road Organisation
(C) This is the world’s longest highway tunnel

(D) This tunnel is 7.02 km long

Choose the correct answer from the options given below :

(1) (B), (©), (D) only

(2)  (A), (B), (C) only

(3)  (A) (B), (D) only

(4)  (A) (©), (D) only

Options :

54025057189. 1

54025057190. 2

54025057191. 3
54025057192. 4
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Match List - I with List - II.
List - I List - II
Seed/Variety Country/Crop

(A) High Yield Wheat ()  Coffee

(B) High Yield Rice (I) Cotton

(C) Robusta () Mexico

(D) Narma (IV) Phillipines

Choose the correct answer from the options given below :

(1) (A)-D), (B)~(IV)z (©)-(1m), (D)-(0)

(2)  (A)-(D), (B)-(I), (O-(1I), (D)-(IV)
(3) (A)-(II ) (B)-(IV), (©)-(), (D)-(IT)
(4)  (A)-(), (B)-(I), (C)-(IV), (D)~(II)
Options :

54025057193. 1
54025057194. 2
54025057195. 3
54025057196. 4
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Options :

54025057193. 1
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Match List - I with List - IL
List - I List - II
Steel Plant Water Supply
(A) Indian Iron and Steel Company (IISCO) () Kharkai
(B) Tata Iron and Steel Company (TISCO) (I) Bhadravati
(C) Visvesvaraiya Iron and Steel Company (VISL) (IIf) Koel
(D) Rourkela Steel Plant (IV) Barakar

Choose the correct answer from the options given below :

(1) (A)- (IV B)-(I), 1), (D)-(IT)
(2) (A)-1IV (B) -0, (C) ( (D)~(11D)
(3)  (A)-(D), (B)-(IV), (O)-(IL ) ( )-(1T)
(4)  (A)-(D), (B)-(IV), (O)-(1I), (D)~(IIL)
Options :

54025057197. 1
54025057198. 2
54025057199. 3
54025057200. 4
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3)  (A)-D), (B)-(IV), (O)-(11L) (D)

(4) (A)-(D, (B)-(IV), (O)- (II III)
Options :

54025057197. 1
54025057198. 2
54025057199. 3
54025057200. 4
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the followings is the professional service ?
(1) Launderer

(2) Health care provider

(3) Gardener

(4) Barber

Options :

54025057201. 1
54025057202. 2
54025057203. 3
54025057204. 4
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following services are of the highest order ?
(1) Grocery shopkeepers

(2) Launderer

(3) Gardener

(4) Accountant

Options :

54025057205. 1
54025057206. 2
54025057207. 3
54025057208. 4
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers

migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following services are performed by Government ?
(1) Construction of multiplexes and restaurants
(2) Constructing multistoried buildings
(3) Maintaining fire fighting service
(4) Recreation and entertainment services
Options :
54025057209. 1
54025057210. 2

54025057211. 3
54025057212. 4
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following service provider does NOT perform mental labour ?
(1) Lawyer

(2) Gardener

(3) Musician

(4) Physician

Options :
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following factors is the most important for the location of recreational and
entertainment services ?

(1) Security

(2) Health facilities

(3) Markets

(4) Transport facilities

Options :
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2| e, Fehia, Fafeheaes, iiideR 3R 3= THfeS: 99 i €1

3 YAt o7e frafag € 7 € | Hemn ud Aqedi 1 i iR srRem, sifrer faumh @ sram
SR foren =it gfd srern qfaemn oI aeE-da1 Hewaql Faredi § 9 €, R wiagw siven frsae g
TR S1ore st gRY o St ® 1 T iR g fasrm = ufiees, SR, St iR stomgfd St densi &
forqur 2 wefareror iR fersior fo fmdi =t womaen =Rt B | Tameen Rt T@ye, sifiitent, fafy oik geivm
EdI I HAT § | FRsHIeT 31 gHIg Jarsii st feufq s w sk st 2 | aediere o) st &6t
Trorfa Sta =R &3 (sl En) o siex stoan fehe 21 Gehdl € Siafe Mie® S T8 T I a9m/=1 S
el 9 =t orTa H S Y orhen wu gl

2fe Sira § & it giasrsee a9 & faw dri 6 safaTa JaTd SUers FUE S § | R
USATR T e 5 ATHror &3 F Jamg oh3d & IR STH9Te 21 € | 9 Wi, TR, WA SR qrel S we]
Ganedl % for Fr forg =i €
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

The initial prime objective of Drought Prone Area Development Programme was
(1) Providing employment opportunities

(2) Providing educational facilities

(3) Providing better health facilities

(4) Providing drinking water to every household
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Trefeiam enyT sl UgeRt I T U9 ol 3T ST |

T Heiferd &1 SwrieRH i YESATd well Teesid e W g | 9T Sivd @ Hifad &= | wil 6
USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
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Harsit W SR fea
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BRETT SR 3T USRI o @ quifed & FHEE % TR % R §E H 99 S § |

@ HUTET &3 FEEH T IR qeA 3899 o1
(1)  USFIR 378 UM Ll |

(2) Sifars gfgemd ggm HT)

(3) TSt TRen gaumd yeH wE |

(4) WP ¥ ! G 1 AT GSH HEAT

Options :

54025057221. 1
54025057222.2
54025057223. 3
54025057224. 4

Question Number : 147 Question Id : 54025014307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

.
Qcollegedunlas
India’s largest Student Review Platform



Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

During which of the following years, Irrigation Commission of India introduced the criterion for
demarcating drought prone areas ?

(1) 1968
(2) 1970
(3) 1972
4) 1974
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Trefeiam enyT sl UgeRt I T U9 ol 3T ST |

@1 Hfad &3 iR i ST Sl Yeestd Ao H g3 | 396k 3evd g Hewifad & § @il &l
USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
TEaHTa AeH H $HF HrEes i IR fawgd foman ) 9RY # 39 FrEiwy & siqiiq 18 fafae fmto st
R aa fean wan i sifuss gftrerl o1 savaeRar Bl 81 g o] H 3ad fHaE ufdEsmed, b fawm
Harsit W SR fea

Tree &3 o fasm =1 UL wfafa 3 29 wEEa F fraraam &t avven #i f5ad = g = 5 =g
HEIHH HEd: FY a1 39H Hag el % fawm a% € 9iffd ¥ oK qafewi dqe 9w 1 39
oy =et feon T | Seen gfg % SR | S % fau dia gt @ s w F faw s § iy
qiitfeafaria frefie 8 w81 ofa: gan g9 &9 § defoas TR stat a1 639 1 staeasd ¢
T &5 1 FoET = WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
g Gt &3 o o s wrtfa # 5@, gy, @, aea 9o g SeEen & &9 uifefiss dqerm,
TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H ArsHT SRR 5 <9 H 67 Tl (qui =1 Aiferen) wg=m g "l fel & &9 H i1 1972 | f5=r
STRIFT A 30 gfavra fEfaa & o1 Auee oieht Ja@n Suret &= 1 afidme foea | e | g dymEt &
HEAd: TSR, o, IaH! 449 Uo9, HerIe & JUsdrel &3, 379 Yevl & [AAHMl SR & U8R,
FATeF SR IR dfFeHTg w3 gfa qen tiafe 9 % ek IR std-yek i H % gu ¥ ders
BRETT SR 3T USRI o @ quifed & FHEE % TR % R §E H 99 S § |
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Which of the followings reviewed the performance of drought prone area development programme ?
(1) Planning Commission of India

(2) National Committee on Development of Backward Areas

(3) Irrigation Commission, Ministry of Agriculture

(4) Central Water Commission
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USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
TEaHTa AeH H $HF HrEes i IR fawgd foman ) 9RY # 39 FrEiwy & siqiiq 18 fafae fmto st
R aa fean wan i sifuss gftrerl o1 savaeRar Bl 81 g o] H 3ad fHaE ufdEsmed, b fawm
Harsit W SR fea
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Hrfd Hrrd: FfY a1 98 ddg el % faw o € difhd ¥ oK yafewi dqem g wm oY 5eE
oy =et feon T | Seen gfg % SR | S % fa dia gt w1 s w F fae e § fmd
qiitfeafaria frefie 8 w81 ofa: gan g9 &9 § defoas TR stat a1 639 1 staeasd ¢
T &5 1 FoET = WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
g Gt &3 o o s wrtfa # 5@, gy, @, aea 9o g SeEen & &9 uifefiss dqerm,
TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H ArsHT SRR 5 <9 H 67 Tl (qui =1 Aiferen) wg=m g "l fel & &9 H i1 1972 | f5=r
STRIFT A 30 gfavra fEfaa & o1 Auee oieht Ja@n Suret &= 1 afidme foea | e | g dymEt &
T TS, To, UfYeHt Hea Yeu, HERTe & TISarg] 417, 31y Yew & {Herdid SR aE SR,
FATeF SR IR dfFeHTg w3 gfa qen tiafe 9 % ek IR std-yek i H % gu ¥ ders
BRETT SR 3T USRI o @ quifed & FHEE % TR % R §E H 99 S § |
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Planning Commission of India identified districts as drought prone.
(1) 65
(2) 67
(3) 69
4) 71
Options :
54025057233. 1

54025057234.2
54025057235. 3
54025057236. 4

Question Number : 149 Question Id : 54025014309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

.
Qcollegedunlas
India’s largest Student Review Platform



Trerforiam TenyT sl Ugeht I T U9 ol 3T STl |

g Hefaa £ HEH F1 st el veesta A H g8 | 39 iy g denfad &5 § il &
USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
TEaHTa AeH H $HF HrEes i IR fawgd foman ) 9RY # 39 FrEiwy & siqiiq 18 fafae fmto st
R aa fean wan i sifuss gftrerl o1 savaeRar Bl 81 g o] H 3ad fHaE ufdEsmed, b fawm
Yansii W SR fean

Tree &3 o fasm =1 UL wfafa 3 29 wEEa F fraraam &t avven #i f5ad = g = 5 =g
HEIHH HEd: FY a1 39H Hag el % fawm a% € 9iffd ¥ oK qafewi dqe 9w 1 39
farre st fezn o | s afg % R & Sy % fo diuia gfa 1 swim w3 F fag o € fomd
qiitfeafaria frefie 8 w81 ofa: gan g9 &9 § defoas TR stat a1 639 1 staeasd ¢
T &5 1 FoET = WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
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TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H TSI SN 3 <9 H 67 Tl (qui =1 Aifvren) wg=e g@n e el o &9 H i1 1972 | fq=r
ST A 30 yfoera fEfaa &= o1 Aee oiet g Suret &5 &1 afedme fean e | g duret &9
TEq: TSR, oW, Uit 7e Jew, HenTe & Wgare] &9, o7y UeW o Thadml $iR Ja 9eK,
Hfeh TSR IR afferrg =i S= i qen erfafier am % ek iR ered-ye wmit § e gu €1 de,
B &iR Sud USeE % g yaifad &7 f9EE % YER % SR 9@ | 99 94 ¥

NS SR 3 el 1 g genfad foredi % w9 § fafea fwam)
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Which of the following is NOT included in the drought prone areas of India ?
(1) Marathwada region of Maharashtra

(2) Rayalseema and Telangana plateaus of Andhra Pradesh

(3) Purvanchal region of Uttar Pradesh

(4) Western Madhya Pradesh
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T Heiferd &1 SwrieRH i YESATd well Teesid e W g | 9T Sivd @ Hifad &= | wil 6
USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
TEaHTa AeH H $HF HrEes i IR fawgd foman ) 9RY # 39 FrEiwy & siqiiq 18 fafae fmto st
R aa fean wan i sifuss gftrerl o1 savaeRar Bl 81 g o] H 3ad fHaE ufdEsmed, b fawm
Harsit W SR fea

Tree &3 o fasm =1 UL wfafa 3 29 wEEa F fraraam &t avven #i f5ad = g = 5 =g
Hrfd Hrrd: FfY a1 98 ddg el % faw o € difhd ¥ oK yafewi dqem g wm oY 5eE
oy =et feon T | Seen gfg % SR | S % fa dia gt w1 s w F fae e § fmd
qiitfeafaria frefie 8 w81 ofa: gan g9 &9 § defoas TR stat a1 639 1 staeasd ¢
T &5 1 FoET = WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
g Gt &3 o o s wrtfa # 5@, gy, @, aea 9o g SeEen & &9 uifefiss dqerm,
TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H ArsHT SRR 5 <9 H 67 Tl (qui =1 Aiferen) wg=m g "l fel & &9 H i1 1972 | f5=r
STRIFT A 30 gfavra fEfaa & o1 Auee oieht Ja@n Suret &= 1 afidme foea | e | g dymEt &
T TS, To, UfYeHt Hea Yeu, HERTe & TISarg] 417, 31y Yew & {Herdid SR aE SR,
FATeF SR IR dfFeHTg w3 gfa qen tiafe 9 % ek IR std-yek i H % gu ¥ ders
BRET 3K ST USE & g yuifad 49 f5EE 6 R % R0 9@ 9 99 & ¥

e 8 4 7 @ 9Ra F gEn geanfaa 45 & st T Q2
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